APL104B: Solid Mechanics Fall 2023

Minor
Total marks: 30 Total time: 2 hours

1. [3.5 marks] An angular plate in a state of plane stress is subjected to uniform tensile pressure
of 20 MPa on its sides as shown in the figure below.
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If the state of stress is uniform (i.e. it does not vary from point to point) throughout the
plate, determine
(a) the traction vectors (expressed in e; — ey coordinate system) on planes AB and BC,

(b) the stress components 011, 022, and 712 at any point in the plate.

2. [6 marks] Consider a closed-end thin-walled cylindrical shell on internal radius R and
thickness ¢ with an internal pressure p. show that the principal stresses in the cylinder wall
(not the end cap walls), in cylindrical coordinates (r, 6, z), are given by:
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What is the maximum shear stress in the 8 — z plane? Is it equal to the absolute maximum
shear stress?

3. [7 marks| The deviatoric stress state is used in theories of failure since it is a measure of
those stresses that produce only distortional (and no volume) changes in a body. Consider
the state of stress (in MPa):
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(a) Determine the deviatoric stress matrix, [g 4 } (1 mark)
—daev

(b) Compute the stress invariants of the stress tensor g and those of deviatoric stress tensor
T4 (2 marks)

(c) Compute the principal directions of the deviatoric stress tensor [g dev} and the stress

tensor {g}. How are they related?
How are the absolute maximum shear stresses related in both cases? (4 marks)

4. [3.5 marks| Sketch the Mohr’s circle for stress for each of the following cases of plane stress.
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5. [5 marks] Consider a cantilever beam (with one end free and another end fixed) with a
vertical load P applied to the free end of the beam. At the fixed end, the displacements and
the slope are zero, i.e., u,(L,0) = uy(L,0) = %(L, 0) = 0. The corresponding strain field
at any point in the beam is given by:

Pzy
€xx = L’ €yy = —Végx,

€xz = €yz = €z = 0,
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Check if the strain field is compatible or not. Using the given information, find out the
displacement fields u,(x,y) and uy(x,y).

6. [5 marks] A thin rectangular sheet is strained with uniform strain components: €, = 0.001,
€yy = —0.001, 7, = 0.001. All other strain components are zero implying it is a plane strain

condition.
(a) Draw Mohr’s circle for this case. (2 marks)
(b) How much will be the percentage change in the area of the thin sheet? (1 mark)
(c) Which line elements undergo maximum and minimum normal strain? (1 mark)
)

(d) What will be the orientation of the two perpendicular lines in the plane of the sheet
that undergo maximum angle change between them? (1 mark)
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4) 0.5 mark for each correct figure
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Q6. A thin rectangular sheet is strained with uniform strain components: €,, = 0.001,
€yy = —0.001, 75, = 0.001. All other strain components are zero implying it is a
plane strain condition.

(i) Draw Mohr’s circle for this case.

(ii) How much will be the percentage change in the area of thin sheet?

(iii) Which line elements undergo maximum and minimum longitudinal /normal
strain?

(iv) What will be the orientation of the two perpendicular lines in the plane of
sheet which undergo maximum angle change between them?

Solution:
€z = 0.001, €, = 0.001, ~,, = 0.001, others are all zero!
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(i) The Mohr’s circle is drawn above.
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(ii) Percentage change in area of the sheet = (€, + €,,) x 100 = 0% @
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(iii) To find line elements undergoing max. and min. longitudinal strain (principal strains),
we use the Mohr’s circle. The principal strains are:
. €xz T Eyy

+ R = R: the line element that undergoes maximum longitudinal

lie along the normal of maximum principal strain plane. Its normal is oriented at
1

rain
20 = tan~! (2) clockwise from X-axis in Mohr’s cirle
1
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! <2> anti-clockwise from X-axis physically. ]

— R = —R; the line element that undergoes minimum longitudinal
strain_lie along the normal of minimum principal strain plane. Its normal is
oriented at
1
7420 =7+ tan ™! <2> clockwise from X-axis in Mohr’s cirle
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(iv) Maximum shear strain will occur between those two line elements which correspond
to top and bottom points in the circle. The corresponding directions are:
o First line element oriented along
T
( — 29) anti-clockwise from X-axis in Mohr’s circle

e Second line element oriented along

= (W — 9) clockwise from X-axis physically ]@
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